1. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F

G H | J K L M N (0] P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
230 28 50 19 93 27 13 53 49 66 44 50 180 230 - - - - - - -
The Conservative Party 23% 21% 44% 31% 24% 11% 20% 18% 26% 28% 25% 20% 24% 89% - - - - - - -
253 31 15 10 121 55 20 68 55 62 52 68 185 - 253 - - - - - -
The Liberal Party 25% 23% 13% 16% 32% 23% 30% 24% 30% 26% 29% 27% 25% - 97% - - - - - -
149 32 19 10 54 26 7 40 23 34 38 35 114 - - 149 - - - - -
The New Democratic Party (NDP) 15% 24% 17% 16% 14% 11% 11% 14% 12% 14% 21% 14% 15% - - 93% - - - - -
42 - - - - 42 - 13 6 14 7 8 34 - - - 42 - - - -
The Bloc Québécois (BQ) 4% - - - - 18% - 4% 3% 6% 4% 3% 5% - - - 85% - - - -
57 12 3 1 25 12 4 18 20 5 8 16 40 - - - - 57 - - -
The Green Party 6% 9% 2% 2% 6% 5% 7% 6% 11% 2% 5% 7% 5% - - - - 93% - - -
8 5 - - 2 1 - 6 1 - 1 1 7 - - - - - 8 - -
Other 1% 3% - - 1% * - 2% * - * * 1% - - - - - 87% - -
* * * * * * k% k% *
55 7 11 1 16 14 5 21 10 11 5 20 34 - - - - - - 55 -
Would not vote/None/Would spoil ballot 5% 5% 10% 1% 4% 6% 8% 7% 5% 5% 3% 8% 5% - - - - - - 87% -
* C* * * * * k% %k *
206 19 15 20 72 63 17 68 23 47 25 53 153 29 8 11 8 4 1 9 136
Don't Know/Not sure 21% 14% 14% 32% 19% 26% 25% 24% 13% 20% 14% 21% 20% 11% 3% 7% 15% 7% 13% 13% 99%
* * ABD* AB * HJ N N* * ** *k MNOPQ*
_ R _ R _ R _ - - - _ R - - - - R 1
Don't know * - - - * - - - - - - - * - - - - - - - 1%
* * * * * * * %k k% *
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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2. Well, which party would you say you would lean towards?

_
A B

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
C D E F G H | J

K L M N (e} P Q R S T
Base: All Answering (unwtd) 196 17 13 28 65 47 26 50 25 46 32 52 144 27 12 15 3 6 1 4 128
Base: All Answering (wtd) 206 19 15 20 72 63 17 68 23 47 25 53 153 29 8 11 8 4 1 9 136
29 4 5 5 8 3 3 10 2 6 6 5 24 29 - - - - - - -
The Conservative Party 14% 23% 33% 23% 12% 5% 19% 14% 8% 13% 25% 9% 16% 100% - - - - - - -
%k k% * % * %k %k k% %k k% * %k * * %k k% * 3k k% * %k k% k%
8 - 1 * 4 1 1 2 - 2 4 3 5 - 8 - - - - - -
The Liberal Party 4% - 6% 2% 6% 2% 8% 3% - 4% 15% 6% 3% - 100% - - - - - -
%k kk * 3k * %k %k %k * 3k kk * 3k * * %k k% * 3k kk * %k k% %k
11 1 - 2 5 2 - 4 3 2 2 - 11 - - 11 - - - - -
The New Democratic Party (NDP) 6% 8% - 12% 8% 3% - 6% 11% 4% 9% - 7% - - 100% - - - - -
%k %k %k %k k% %k %k %k * 3k * * %k %k * 3k k% * 3k %k %k
8 - - - - 8 - 7 - 1 - 4 3 - - - 8 - - - -
The Bloc Québécois (BQ) 4% - - - - 12% - 10% - 2% - 8% 2% - - - 100% - - - -
k% %k %k * 3k k% k% * 3k k% * 3k * * k% %k * 3k k% * 3k k% k%
4 - 1 - 2 1 1 - 1 2 - 1 4 - - - - 4 - - -
The Green Party 2% - 5% - 3% 1% 3% - 3% 4% - 1% 2% - - - - 100% - - -
%k k% %k * %k k% k% %k k% * 3k * * %k k% * 3k k% * %k k% k%
1 - - - - 1 - - 1 - - - 1 - - - - - 1 - -
Other 1% - - - - 2% - - 5% - - - 1% - - - - - 100% - -
%k k% * % * %k %k k% * % k% * %k * * %k k% * %k k% * %k k% k%
9 - - 2 2 4 - 4 - 4 - 4 4 - - - - - - 9 -
Would not vote/None/Would spoil ballot 4% - - 12% 2% 7% - 7% - 9% - 8% 3% - - - - - - 100% -
%k kk * 3k * %k k% %k %k %k k * %k * * %k kk * %k kk * %k k% %k
136 13 8 10 50 42 12 41 17 30 13 36 100 - - - - - - - 136
Don't Know/Not sure 66% 69% 55% 51% 70% 68% 70% 61% 74% 64% 51% 68% 65% - - - - - - - 100%
%k %k %k %k k% %k %k kk %k * * k% %k * 3k * %k * 3k %k %k
206 19 15 20 72 63 17 68 23 47 25 53 153 29 8 11 8 4 1 9 136
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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1_2. Fed Vote (combined)

_
A B

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
C D E F G H | J R

K L M N (0] P Q S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
259 32 55 24 102 30 16 62 50 73 51 55 205 259 - - - - - - -
The Conservative Party 26% 24% 48% 39% 26% 13% 24% 22% 27% 30% 28% 22% 27% 100% - - - - - - -
E* ADEF* ADE* E E* NOPQT * * *k ** *
261 31 16 10 125 56 21 70 55 64 56 71 189 - 261 - - - - - -
The Liberal Party 26% 23% 14% 17% 33% 24% 32% 24% 30% 27% 31% 28% 25% - 100% - - - - - -
160 34 19 13 60 27 7 44 25 36 40 35 126 - - 160 - - - - -
The New Democratic Party (NDP) 16% 25% 17% 20% 16% 12% 11% 15% 13% 15% 22% 14% 17% - - 100% - - - - -
50 - - - - 50 - 19 6 15 7 12 38 - - - 50 - - - -
The Bloc Québécois (BQ) 5% - - - - 21% - 7% 3% 6% 4% 5% 5% - - - 100% - - - -
61 12 3 1 27 12 5 18 20 7 8 17 44 - - - - 61 - - -
The Green Party 6% 9% 3% 2% 7% 5% 7% 6% 11% 3% 5% 7% 6% - - - - 100% - - -
9 5 - - 2 2 - 6 2 - 1 1 8 - - - - - 9 - -
Other 1% 3% - - 1% 1% - 2% 1% - * * 1% - - - - - 100% - -
* * * * * * k% k% *
63 7 11 3 18 18 5 25 10 15 5 25 39 - - - - - - 63 -
Would not vote/None/Would spoil ballot 6% 5% 10% 5% 5% 8% 8% 9% 5% 6% 3% 10% 5% - - - - - - 100% -
136 13 8 10 50 42 12 41 17 30 13 36 100 - - - - - - - 136
Don't Know/Not sure 14% 10% 7% 17% 13% 18% 18% 14% 9% 12% 7% 14% 13% - - - - - - - 99%
_ R _ R _ R _ - - - _ R - - - - R 1
Don't know * - - - * - - - - - - - * - - - - - - - 1%
* * * * * * * %k k% *
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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1_2x. Fed Vote (combined -- decided voters leaners included)

_
A B

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
C D E F G H | J K L

M N 0 P Q R S T

Base: All Answering (unwtd) 826 102 85 80 295 187 77 179 145 229 206 209 617 260 297 165 42 56 6 - -

Base: All Answering (wtd) 800 114 93 49 316 178 50 220 159 194 163 190 609 259 261 160 50 61 9 - -

259 32 55 24 102 30 16 62 50 73 51 55 205 259 - - - - - - -

The Conservative Party 32% 28% 59% 50% 32% 17% 33% 28% 32% 37% 31% 29% 34% 100% - - - - - - -
* ADEF* ADE* E * E* * NOPQ * * *k

261 31 16 10 125 56 21 70 55 64 56 71 189 - 261 - - - - - -

The Liberal Party 33% 28% 17% 21% 40% 32% 43% 32% 35% 33% 34% 37% 31% - 100% - - - - - -

160 34 19 13 60 27 7 44 25 36 40 35 126 - - 160 - - - - -

The New Democratic Party (NDP) 20% 30% 21% 26% 19% 15% 14% 20% 16% 18% 25% 18% 21% - - 100% - - - - -

50 - - - - 50 - 19 6 15 7 12 38 - - - 50 - - - -

The Bloc Québécois (BQ) 6% - - - - 28% - 9% 4% 8% 5% 6% 6% - - - 100% - - - -

61 12 3 1 27 12 5 18 20 7 8 17 44 - - - - 61 - - -

The Green Party 8% 10% 4% 3% 8% 7% 10% 8% 13% 4% 5% 9% 7% - - - - 100% - - -

9 5 - - 2 2 - 6 2 - 1 1 8 - - - - - 9 - -

Other 1% 4% - - 1% 1% - 3% 1% - 1% * 1% - - - - - 100% - -
* * * * * * * * * %k

63 7 11 3 18 18 5 25 10 15 5 25 39 - - - - - - 63 -

Would not vote/None/Would spoil ballot

136 13 8 10 50 42 12 41 17 30 13 36 100 - - - - - - - 136
Don't Know/Not sure
1 - - - 1 - - - - - - - 1 - - - - - - - 1
Don't know
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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3. Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their performance?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L M N (0] P Q S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
125 19 1 5 60 33 7 43 25 27 22 23 103 7 88 12 3 2 - 2 11
Strongly approve 13% 14% 1% 9% 16% 14% 11% 15% 14% 11% 12% 9% 14% 3% 34% 8% 7% 3% - 3% 8%
409 62 39 19 165 88 37 96 86 96 87 135 274 43 150 86 16 29 2 31 54
Somewhat approve 41% 46% 34% 30% 43% 37% 55% 33% 46% 40% 48% 54% 37% 17% 58% 54% 32% 47% 22% 48% 39%
Cc* * * BCE* G G L MPT MPT M* M* ** ** M*
208 23 23 14 75 61 13 60 33 55 34 37 171 54 14 43 13 24 - 17 44
Somewhat disapprove 21% 17% 20% 23% 19% 25% 19% 21% 18% 23% 19% 15% 23% 21% 5% 27% 26% 39% - 27% 32%
257 30 51 24 85 57 10 88 42 60 38 56 201 155 9 20 18 7 7 14 29
Strongly disapprove 26% 23% 45% 38% 22% 24% 15% 31% 23% 25% 21% 22% 27% 60% 3% 12% 36% 11% 78% 22% 21%
* ADEF* ADEF* * NOPQT N NOQ* * ** *k N*
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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4. Some people say that the Liberal government under Prime Minister Justin Trudeau has done a good job and deserves to be re-elected this year. Other people say that it is time for another federal party to take over and run the country. Which of these statements is closest to your point of view?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION
Total SK/MB Ontario Quebec Atlantic <$40K S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not '
<$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party c Party (BQ) /Would
(NDP) spoil ballot
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
426 55 25 19 184 107 36 119 91 96 83 119 308 19 236 53 14 22 1 27 54
Trudeau government has done a good job and deserves re-
election 43% 41% 22% 31% 48% 45% 53% 41% 49% 40% 46% 47% 41% 8% 91% 33% 28% 36% 13% 42% 40%
B* * * BC B BC* MOPQT M M* M* ** ** M*
574 79 88 43 201 132 31 168 95 142 98 132 441 240 24 108 36 39 8 36 83
Time for another federal party to take over 57% 59% 78% 69% 52% 55% 47% 59% 51% 60% 54% 53% 59% 92% 9% 67% 72% 64% 87% 58% 60%
* ADEF* DF* * NOPQT N N* N* * % *% N*
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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5. Which of the federal party leaders do you think would make the best Prime Minister of Canada?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <$100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L

M N (0] P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
386 57 19 18 167 91 34 108 85 80 73 110 276 16 228 29 8 23 1 21 60
Justin Trudeau 39% 43% 17% 29% 43% 38% 51% 38% 46% 34% 40% 44% 37% 6% 88% 18% 16% 38% 13% 33% 44%
B* * * BC B BC* | MOPQT M * MO* *E *x MOP*
225 38 27 20 100 27 12 54 40 57 47 61 164 24 20 116 3 21 1 17 23
Jagmeet Singh 23% 29% 24% 32% 26% 11% 18% 19% 21% 24% 26% 24% 22% 9% 8% 72% 6% 35% 9% 27% 17%
E* E* EF* E * MNPQT * MNPT* *E ** N*
73 - - - - 73 - 30 13 14 9 12 61 7 1 9 35 9 - * 13
Yves-Frangois Blanchet 7% - - - - 31% - 11% 7% 6% 5% 5% 8% 3% * 6% 69% 14% - * 9%
* * * ABCDF * N MNOQT* MN* *k *x MN*
316 39 67 24 118 47 21 94 48 87 52 68 248 212 12 6 4 8 7 25 42
Erin O'Toole 32% 29% 59% 39% 31% 20% 32% 33% 26% 36% 28% 27% 33% 82% 4% 4% 9% 13% 78% 40% 30%
* ACDEF* E* E * NOPQT * * ok *x NOP*
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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6. Do you approve or disapprove of the performance of Julie Payette as Governor General of Canada?

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L M N (0] P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
491 75 47 26 196 112 35 144 98 104 90 145 346 92 155 90 10 34 1 46 64
Top 2 Box (Net) 49% 56% 42% 42% 51% 47% 52% 50% 53% 44% 50% 58% 46% 35% 59% 56% 20% 56% 13% 72% 46%
45 3 6 1 21 12 2 17 7 7 10 14 31 6 31 3 2 2 - - 1
Strongly approve 5% 2% 5% 2% 5% 5% 3% 6% 4% 3% 5% 6% 4% 2% 12% 2% 5% 3% - - 1%
446 72 41 25 176 100 32 127 91 97 80 131 315 85 124 87 7 32 1 46 62
Somewhat approve 45% 53% 37% 40% 46% 42% 48% 44% 49% 41% 45% 52% 42% 33% 48% 54% 15% 53% 13% 72% 45%
509 59 65 36 189 127 32 143 88 134 90 106 403 168 106 71 40 27 8 17 74
Bottom 2 Box (Net) 51% 44% 58% 58% 49% 53% 48% 50% 47% 56% 50% 42% 54% 65% 41% 44% 80% 44% 87% 28% 54%
318 37 41 28 128 62 22 88 63 81 49 63 255 96 76 44 17 21 1 15 49
Somewhat disapprove 32% 28% 37% 45% 33% 26% 32% 31% 34% 34% 27% 25% 34% 37% 29% 28% 34% 34% 9% 24% 36%
191 22 24 8 61 65 11 54 25 53 42 43 148 72 30 26 23 6 7 2 25
Strongly disapprove 19% 16% 21% 13% 16% 27% 16% 19% 14% 22% 23% 17% 20% 28% 12% 16% 46% 10% 78% 4% 18%
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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7_1. Which major federal party leader is best described by the following trait? - Someone who is best to manage during tough economic times

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L

M N 0 P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
342 43 20 15 158 80 26 98 74 67 62 106 237 14 211 34 5 25 1 22 30
Justin Trudeau 34% 32% 18% 25% 41% 33% 39% 34% 40% 28% 35% 42% 32% 5% 81% 21% 11% 41% 13% 35% 22%
* * * BC B B* | L MOPQT M * MOPT* *k ** M*
230 31 39 21 84 43 11 55 51 70 41 43 187 172 12 10 9 5 1 11 11
Erin O'Toole 23% 23% 35% 34% 22% 18% 17% 19% 28% 29% 23% 17% 25% 66% 5% 6% 17% 9% 10% 17% 8%
* DEF* DEF* * G K NOPQT N* * ** ** *
117 23 13 7 53 15 6 39 10 29 28 24 93 6 6 80 3 12 1 3 5
Jagmeet Singh 12% 17% 11% 12% 14% 6% 10% 14% 5% 12% 16% 9% 12% 2% 2% 50% 6% 20% 9% 4% 4%
39 - - - - 39 - 15 12 5 8 11 29 5 - 10 21 3 - * -
Yves-Francois Blanchet 4% - - - - 16% - 5% 6% 2% 4% 4% 4% 2% - 6% 43% 5% - * -
* * * ABCDF * NT MNOQT* N* *k *k *
271 38 41 18 90 62 23 80 39 68 41 68 203 62 31 26 11 16 6 27 91
None 27% 28% 36% 29% 23% 26% 35% 28% 21% 29% 23% 27% 27% 24% 12% 16% 22% 26% 69% 43% 67%
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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7_2. Which major federal party leader is best described by the following trait? - Someone who will spend taxpayer's money wisely

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L

M N 0 P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
247 36 12 11 122 50 17 72 47 51 45 79 168 13 151 28 3 15 1 13 23
Justin Trudeau 25% 27% 11% 17% 32% 21% 26% 25% 25% 21% 25% 32% 22% 5% 58% 17% 6% 24% 9% 21% 17%
B* * * BCE B* L MOPQT M * M* *k ** M*
198 27 38 16 72 34 11 42 42 54 45 40 158 147 14 10 7 5 1 8 7
Erin O'Toole 20% 20% 34% 26% 19% 14% 17% 15% 23% 23% 25% 16% 21% 57% 6% 6% 13% 8% 10% 12% 5%
150 23 13 9 70 27 7 51 19 31 35 34 115 11 19 84 9 13 - 7 6
Jagmeet Singh 15% 17% 11% 15% 18% 11% 11% 18% 10% 13% 20% 14% 15% 4% 7% 52% 17% 21% - 11% 5%
44 - - - - 44 - 11 12 9 7 10 35 7 4 6 18 8 - * -
Yves-Francois Blanchet 4% - - - - 19% - 4% 6% 4% 4% 4% 5% 3% 2% 4% 36% 14% - * -
* * * ABCDF * MNOQT* MNOT* *k *k *
361 48 50 26 121 84 31 109 66 93 48 89 272 80 72 33 13 20 7 35 101
None 36% 36% 44% 42% 32% 35% 47% 38% 35% 39% 26% 35% 36% 31% 27% 20% 27% 33% 82% 55% 73%
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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7_3. Which major federal party leader is best described by the following trait? - Someone you can trust

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L

M N 0 P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
248 31 9 10 119 65 13 71 52 54 48 80 168 11 169 17 4 12 1 14 19
Justin Trudeau 25% 23% 8% 16% 31% 27% 20% 25% 28% 23% 26% 32% 22% 4% 65% 11% 9% 20% 13% 22% 14%
B* * * BC B B* L MOPQT M * M* *k ** M*
156 21 29 15 61 24 6 41 33 40 34 28 128 127 6 5 1 6 1 2 9
Erin O'Toole 16% 16% 26% 24% 16% 10% 9% 14% 17% 17% 19% 11% 17% 49% 2% 3% 2% 10% 10% 3% 6%
190 38 18 10 86 23 16 60 24 39 43 43 148 19 31 99 4 16 1 8 12
Jagmeet Singh 19% 28% 16% 16% 22% 10% 24% 21% 13% 16% 24% 17% 20% 8% 12% 62% 8% 26% 9% 13% 9%
53 - - - - 53 - 19 13 12 7 17 36 6 4 8 31 3 - * 1
Yves-Francois Blanchet 5% - - - - 22% - 7% 7% 5% 4% 7% 5% 2% 1% 5% 62% 5% - * 1%
353 44 57 28 119 73 31 95 64 93 50 84 269 96 51 31 10 24 6 39 96
None 35% 33% 50% 45% 31% 31% 47% 33% 34% 39% 27% 33% 36% 37% 20% 19% 19% 39% 69% 61% 70%
* ADE* D* DE* J NO * NO* *k *k MNOPQ*
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

Table of contents




7_4. Which major federal party leader is best described by the following trait? - Someone whose values best represent my own

COMPOSITION
Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
_............. (NDP) spoil ballot
A B C D E F G H | J K L M N (6} P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
263 38 15 11 120 63 16 71 59 57 55 77 186 18 185 15 2 14 1 10 16
Justin Trudeau 26% 28% 13% 18% 31% 27% 23% 25% 32% 24% 30% 31% 25% 7% 71% 10% 4% 24% 13% 16% 12%
161 19 32 17 63 22 8 30 37 50 31 31 130 136 10 2 1 6 1 2 4
Erin O'Toole 16% 14% 28% 28% 16% 9% 12% 10% 20% 21% 17% 12% 17% 52% 4% 1% 2% 9% 10% 3% 3%
* ADEF* ADEF* * G G NOPQT * O* *k ** *
203 38 19 13 90 31 12 66 27 41 47 56 147 20 24 118 3 19 1 12 6
Jagmeet Singh 20% 28% 17% 21% 24% 13% 17% 23% 14% 17% 26% 22% 20% 8% 9% 74% 7% 30% 9% 19% 4%
E* * * E * HI MNPQT * MNPT* *k ** *
51 - - - - 51 - 15 10 12 9 15 36 9 1 - 33 6 - - 1
Yves-Francois Blanchet 5% - - - - 21% - 5% 5% 5% 5% 6% 5% 3% 1% - 67% 10% - - 1%
* * * ABCDF * N MNOQT* NOT* ok *x *
323 40 48 21 111 71 32 105 53 77 39 72 251 76 41 25 10 16 6 40 110
None 32% 30% 42% 34% 29% 30% 48% 37% 28% 32% 21% 29% 33% 29% 16% 16% 20% 26% 69% 63% 80%
* D* * ADE* J J NO * * ok *x MNOPQ*
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T

Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T

Minimum Base: 30 (**), Small Base: 100 (*)
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7_5. Which major federal party leader is best described by the following trait? - Someone who will take action against climate change

COMPOSITION
Total BC AB SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot
A B C D E F G H | J K L

M N 0] P Q R S T
Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
319 44 17 12 146 73 26 90 68 69 59 90 229 38 186 29 2 14 2 11 37
Justin Trudeau 32% 33% 15% 19% 38% 31% 39% 31% 36% 29% 33% 36% 31% 15% 71% 18% 4% 23% 22% 18% 27%
B* * * BC B BC* MoPQT * p* *E *x MP*
102 11 15 14 35 22 6 30 18 30 17 22 80 67 4 10 2 3 - 9 6
Erin O'Toole 10% 8% 13% 22% 9% 9% 9% 11% 10% 13% 9% 9% 11% 26% 2% 6% 4% 5% - 15% 4%
210 38 25 11 91 34 12 58 26 57 49 48 162 36 33 94 11 21 - 7 9
Jagmeet Singh 21% 28% 22% 18% 24% 14% 17% 20% 14% 24% 27% 19% 22% 14% 13% 58% 21% 35% - 11% 6%
E* * * E * H H MNPQT T* MNT* *k *x *
46 - - - - 46 - 14 12 8 6 11 35 5 1 3 26 8 1 * -
Yves-Francois Blanchet 5% - - - - 19% - 5% 7% 3% 3% 4% 5% 2% 1% 2% 53% 13% 10% * -
* * * ABCDF * MNOQT*  MNOT* ok *x *
323 42 56 26 113 64 23 94 61 75 50 80 243 114 36 24 8 15 6 35 85
None 32% 31% 49% 41% 29% 27% 35% 33% 33% 31% 28% 32% 32% 44% 14% 15% 17% 25% 69% 55% 62%
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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7_6. Which major federal party leader is best described by the following trait? - Someone who is best to manage the COVID-19 crisis

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE
COMPOSITION

Total SK/MB Ontario Quebec Atlantic <S40K S40K - S60K - S100K+ Kids No Kids The The Liberal| The New | TheBloc | The Green Would not :
<S60K <S100K Conservati Party Democrati | Québécois Party vote/None | Know/Not
ve Party ¢ Party (BQ) /Would
(NDP) spoil ballot

Base: All Respondents (unwtd) 1000 120 100 100 351 229 100 230 168 268 225 263 737 260 297 165 42 56 6 45 129
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
417 62 20 20 184 90 41 119 84 98 84 113 304 37 223 55 11 26 - 21 45
Justin Trudeau 42% 46% 18% 32% 48% 38% 62% 42% 45% 41% 46% 45% 41% 14% 86% 34% 21% 42% - 34% 33%
B* * B* BC B BCDE* MoPQT M * M* *E *x M*
170 17 34 18 61 32 7 47 35 47 29 35 135 135 4 9 8 4 - 6 4
Erin O'Toole 17% 13% 30% 29% 16% 14% 11% 17% 19% 20% 16% 14% 18% 52% 2% 6% 17% 6% - 9% 3%
* ADEF* ADEF* * NOPQT NT* * *E ** *
93 24 11 6 43 7 2 27 11 24 19 21 72 9 9 56 1 12 1 2 4
Jagmeet Singh 9% 18% 9% 9% 11% 3% 4% 9% 6% 10% 10% 8% 10% 3% 3% 35% 2% 19% 9% 3% 3%
EF* E* E* E * MNPT * MNPT* *k *x *
32 - - - - 32 - 5 9 4 9 10 22 7 2 2 15 5 1 - -
Yves-Francois Blanchet 3% - - - - 13% - 2% 5% 2% 5% 4% 3% 3% 1% 1% 30% 8% 10% - -
288 31 48 18 96 78 16 88 46 65 41 72 216 72 22 38 15 15 7 34 84
None 29% 23% 43% 30% 25% 33% 24% 31% 25% 27% 22% 29% 29% 28% 9% 24% 30% 25% 82% 54% 61%
1000 134 113 62 385 239 67 286 186 238 181 251 749 259 261 160 50 61 9 63 137
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)
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